SA1397-2-0l
AK-50

) 1800

%/0
2




KS-1397  PRESSER LIFTING SOLENOID COMPONENTS
KS - 1397 - S (SPECIAL ORDER PARTS : FOR BROTHER S-7200A)

REF NO. PART NO. DESCRIPTION QUANTITY

O 0 NN B W N =

I T S T N T T S T G S e S L)

06W0-1235
9315 - 1528
4703 - 5404
1605 - N910
1605 - N915
4704 - N286
06WO0-NOOS
1102 - N370
3020 - N0OO1
3021 - NOO1
2601 - N210
2600 - 0190
1102 - N370
4704 - 7286
0340 - 0436
8300 - 4342
1605 - 0420

1605 - 0430

8400 - 5440
8400 - 5450
1102 - 1870
1405 - 2360
4705 - 9287
3904 - 007E
1900 - 0060

PIN (FEMALE) -

PRESSER FOOT LIFTING SOLENOID ASSY---------
COVER -------- - .
SCREW 9/64 x 40
SOLENOID BASE A - - -
SOLENOID BASE B —---ecemmmemmmcmmom e emcmmm e
SCREW M6 x1.0x13 ---
REAR COVER ASSY
PRESSER FOOT LIFTING SHAFT
NUT M20 X 2.5 commm e
COLUMN OF SCREW M20 % 2.5 x 42.9 --ccccmcmeeee-
WASHER § 10 x 18 x 1
SNAP RING E8 ----------
PRESSER FOOT LIFTING ARM. —--ecmmmemmemeee et
SCREW 3/16 X 28 eeememmmm e -
LIFTER KNEE SWITCH ASM. ----mmmmmmm e
CORD AND KNEE SWITCH

PIN (MALE) ---- - ]

PIN TERMINAL MALE
PIN TERMINAL FEMALE -
DRIVING BAR ----------

KNEE SWITCH SUPPORT BASE
SCREW 15/64" x 28 x 12
SCREW M4 x 0.7 x 15
WOOD SCREW 1 1/2" -

[\S I N S




